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So you want to… take on an asset?


This table is taken from the Breakeven and Sensitivity page of the COSS website:
http://www.dtascommunityownership.org.uk/
	Breakeven Point - an example 

A development trust called "Offices 'r' Us" is planning to bring to market 10 new single office units in an old converted school. The following shows fixed and variable costs that are associated with the project.

	Cost item  
	£  

	Fixed costs (annual):  
	

	Mortgage interest payments on loan to convert the school  
	30,000  

	Business rates  
	2,000  

	Caretaker salary  
	14,800  

	Building insurance  
	4,000  

	Lift maintenance  
	1,200  

	Variable Costs:  
	

	Heat and Light Standing charge per unit quarterly  
	20  

	Heat and light usage charge per unit quarterly  
	130  

	Telephone and internet costs per unit  
	370

	Cleaning costs per unit (weekly)  
	10  

	Each office is being marketed at an all inclusive cost of £200 per week 

What is the breakeven point? (i.e. how many units must be occupied to make the venture break even?) 

	Answer

	Fixed costs per annum
	£52,000

	Variable costs per unit per annum

(£20x4+£130x4+370x4+1 Ox52) The x 4 multiplier is for quarterly variable costs and the 52 multiplier for weekly costs
	£2,600

	Total Contribution per unit per annum

(£200per week x 52 weeks=£1 0,400 per annum -£2,600 = £7,800)
	£7,800

	Total Number of Units = 10
	

	Breakeven point = Fixed Costs (£52,000) Contribution per unit (7,800) = 6.6 units

	So 7 units need to be occupied (a 70% occupancy rate given that there are 10 units) for breakeven point to be reached.


Table appeared initially in © ‘To Have and To Hold’ 
The Development Trusts Association, September 2010 www.dta.org.uk
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